
©2024 Superatv.com. All Rights Reserved IN-FF-CF-UF1000_3-13-24
1

Flat Fender Flares: FF-CF-UF1000

Front Flares

Rear Supports

Rear Flares
Pc-2

11/32” 
Drill Bit

M6x25
Flat Top
26pcs

M6x20
Chamfered

Washer 26pcs

1/4”x1-1/4”
Oversized

Washer 26pcs

M6 Nylock
Nut 26pcs

M8
Pry Rivet

34pcs

Rear Flares
Pc-1



©2024 Superatv.com. All Rights Reserved IN-FF-CF-UF1000_3-13-24
2

1.To install the front flares, you will
    need to drill a few holes that you
    will use to attach them with. To do
    this, you first remove the factory 
    Pry Rivets from underneath the
    wheel well as shown in Fig.1. Keep
    these as you will need them to 
    re-install. Remove the Rivets
    shown in Fig.1.

2.After the Rivets are removed, now
   install the new Flare using the 
   factory Pry Rivet holes and pins,
   starting from the FRONT working
   towards the back. You will stop at
   the bend in the Flare as shown in
   Fig.2.  Now you need to drill some
   holes using the Drill Bit provided in
   your kit, using the Flare as a guide.
   So drill thru each hole where there
   is a hole in the Flare as you will be 
   installing Pry Rivets in those 
   locations.  See Fig.2.

3.Now install Pry Rivets in the 
   remaining holes with the 
   Pry Rivets provided in your kit.  
   When finished, your Flare should
   look like the one in Fig.3.

   Repeat for opposite side.

Fig.1

Fig.2

Fig.3

Remove Front Fender Remove Front Fender 
Pry Rivets As ShownPry Rivets As Shown

Install Flare Using Install Flare Using 
Factory Pry RivetsFactory Pry Rivets

Drill Thru Holes Using Drill Thru Holes Using 
Holes In Flare HereHoles In Flare Here

All Pry Rivets All Pry Rivets 
InstalledInstalled



©2024 Superatv.com. All Rights Reserved IN-FF-CF-UF1000_3-13-24
3

4.Next, you’ll work on the rear flares. There are two (2) pieces to each rear side flare. We will show
   installing the Driver’s side rear. The first thing you need to do is remove the rear bolt and the front 
   Pry Rivet. Fig.4 shows these items.

5.Now you can start you install the long fender flare piece. Install this piece FIRST as you will need it 
   to align the other half so they look good with matching edges. To get the best fit, install ONLY the
   front Pry Rivet you just removed and the rear bolt you also just removed. Install this flare piece
   with those two items to start. See Fig.5.

Fig.4

Fig.5

Remove Factory Remove Factory 
Pry Rivet HerePry Rivet Here Remove Factory Remove Factory 

Bolt HereBolt Here

Install Install 
Factory Factory 

Pry RivetPry Rivet
HereHere

Install Install 
FactoryFactory

Bolt HereBolt Here



©2024 Superatv.com. All Rights Reserved IN-FF-CF-UF1000_3-13-24
4

6 .Once the Pry Rivets and end bolts 
    are installed, now work your way
    from the outer ends towards the
    center, drilling the holes.  Push
    the flare up tight against the body 
    as shown in Fig.6, then drill the
    holes using the flare hole as a
    guide.  Drill all holes this same way.
    The tighter the fit the better.
    See Fig.6.

8. After all the holes are drilled for this 
    piece of the flare, now install the
    M6x25 Flathead Screws and M6
    Chamfered Washers, provided in
    your kit, into each of the holes that
    you drilled. Tighten them as you go
    so they don’t pull back. See Fig.8.

7. When pushing the flare up tight
    against the fender, apply extra force
    at the corners to push them in flush
    as much as possible before drilling
    screw holes. See Fig.7a-b.

Push Flare Up Tight To Push Flare Up Tight To 
Fender, Then Drill Holes Fender, Then Drill Holes 
While up Against Fender. While up Against Fender. 
Drill All Holes Same Way.Drill All Holes Same Way.

Fig.6

Fig.8

Fig.7a Fig.7b

Install M6x25 Install M6x25 
Flathead Screws Flathead Screws 

and M6and M6
Chamfered Chamfered 
WashersWashers

M6x25M6x25
FlatheadFlathead

Notice PossibleNotice Possible
Gap AtGap At
CornersCorners

Push In Tight Push In Tight 
Before Drilling Before Drilling 

HolesHoles

M6 Chamfered M6 Chamfered 
WasherWasher

All Screws All Screws 
InstalledInstalled



©2024 Superatv.com. All Rights Reserved IN-FF-CF-UF1000_3-13-24
5

9. Next, you’ll need to assemble a
    Rear Support Bracket to the 
    other half of the Rear Flare. Find the
    matching bracket that fits the
    second half of the flap and install
    it onto the flare flap using the M6x25
    Flathead Screws, M6 Chamfered
    Washers, 1-1/4” Oversized 
    Washers and Nylock Nuts. You will
    install the (2) outer edge bolts first
    and tighten.  Make sure the large
    washer and Nylock Nut are on the
    same side shown as in Fig.9. Then
    install the end bolt but do not tighten
    that one as you will be taking it back
    off to drill a hole. It is installed now
    just to hold it together while you
    align the pieces together.

Fig.9

Fig.10b

(Opposite Side 
Of Screw Shown)

Install Bracket to Install Bracket to 
Flare Here, But Do Flare Here, But Do 
Not Tighten This Not Tighten This 
One, Just Snug it.One, Just Snug it.

Install Using M6x25Install Using M6x25
Flathead Screws, M6 Flathead Screws, M6 
Chamfered Washers, Chamfered Washers, 

1-1/4” Oversized 1-1/4” Oversized 
Washers and M6 Washers and M6 

Nylock NutsNylock Nuts

Remove Remove 
Pry Rivet Pry Rivet 

HereHere

Install Flare & Install Flare & 
Bracket Using Bracket Using 

Same Pry Rivet Same Pry Rivet 
and Holeand Hole

10. Now, remove the Lower Pry Rivet located in front of the Rear Tire as shown in Fig.10a. Then take
      the Flare with the Bracket you just installed on it and install it on the vehicle using the same 
      Pry Rivet you just removed back in the same hole to hold in location.  See Fig.10a-b. 



©2024 Superatv.com. All Rights Reserved IN-FF-CF-UF1000_3-13-24
6

Fig.11

11. Your first attached location
      should look like this as
      shown in Fig.11.

12. Now  take the top edge, or other
      end of the Flare, and align it with
      the bend-line on your vehicle, 
      Fig.12a, and position it so that
      the outer edge of that section of
      the Flare runs flush with the first 
      section’s outer edge that you
      already installed.  See Fig.12b.

      You will need to hold it up in
      place and move it over to align
      the outer edges of the two (2)
      sections, then you can drill
      your holes in the next step.

13. Holding the Flare firm up against the
      vehicle in place, now drill two (2)
      holes all the way thru using the 
      provided drill bit in your kit. Just drill
      these two (2) holes now. Then release
      the flare and now remove the end bolt 
      you just snugged on, and place the
      flare back up in location.       
      See Fig.13.

Install Pry Rivet Install Pry Rivet 
In Same HoleIn Same Hole

Fig.12a Fig.12b

Fig.13

Align Top Edge Of Align Top Edge Of 
Flare To Bend-line On Flare To Bend-line On 

VehicleVehicle

Hold Flare Up In Hold Flare Up In 
Place And Align Place And Align 

Outer Edges FlushOuter Edges Flush

Align EdgesAlign Edges

Align Edge Then Align Edge Then 
Drill These Two Drill These Two 

HolesHoles

Then Remove Bolt, Then Remove Bolt, 
Nut & WashersNut & Washers



©2024 Superatv.com. All Rights Reserved IN-FF-CF-UF1000_3-13-24
7

14. Now install the M6x25 Flathead
      Screws, M6 Chamfered 
      Washers, 1-1/4” Oversized 
      Washers and M6 Nylock Nuts
      in the two (2) holes you just
      drilled and the end bolt you also
      just removed as shown in Fig.14.

15. The last thing to do is drill two (2)
      more holes for the remaining
      Pry Rivets. Drill these thru with
      the same drill bit provided as
      shown in Fig.15. 

16. Then install the Pry Rivets in 
      those last two (2) holes as shown
      in Fig.16.   

      Repeat for opposite side.

Fig.14

Fig.15

Fig.16

Install All Three  Locations With M6x25 Install All Three  Locations With M6x25 
Flathead Screws, M6 Chamfered Flathead Screws, M6 Chamfered 

Washers, 1-1/4” Oversized Washers, 1-1/4” Oversized 
Washers and M6 Nylock NutsWashers and M6 Nylock Nuts

Drill Thru Both Drill Thru Both 
Holes HereHoles Here

Install Pry Install Pry 
Rivets HereRivets Here



©2024 Superatv.com. All Rights Reserved IN-FF-CF-UF1000_3-13-24
8

  Like SuperATV on Facebook to keep up to date on new products!

Need help with your installation?

www.superatv.com

8:00am - 9:00pm EST M-Th
8:00am - 7:00pm EST Friday
9:00am - 2:00pm EST Saturday

sales@superatv.com

1-855-743-3427

If you have any problems/questions on this kit, contact us by email 
at Superatv.com.


